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A 3
M J|IRHIUES 2c
Helr g2 2 28 2 22l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 124,000
207 ARl 124,000 87,336 36,664
Il 124,000
01 H1E4H] 124,000 87,336 36,664
O E2e| AlHHEl OB It 76,000
Jl 76,000
OLgsgdc e A2AE Z2LIHE 48,000
Il 48,000
SE= MZAIE =X 33,000 33,000
201 2= 13,000 13,000
01 At22t2lt] 10,000 10,000
OFE=SHZAE =ZZA 10,000
02 S5=2g4l 3,000 0 3,000
ORESNIME &R 3,000
401 A& HIX R0 20,000 20,000
01 AlZH| 20,000 20,000
OFE= MM =£38 Xt 20,000
JeldS 2tF0ol stits tHal izl 17,000 0 17,000
== 14,000
Al 3,000
307 212+01& 17,000 0 17,000
< 14,000
Al 3,000
02 LB HAHE L 17,000 0 17,000
Oelds gl stotsiial = 17,000
= 14,000
Al 3,000
g U 2l 12,436,269 14,029,854 A 1,593,585
= 6,298,560
= 44,000
== 1,536,111
Al 4,557,598
WILE=s3% =24 N2 51,334 51,334 0
< 15,400
Al 35,934
201 er23| 51,334 51,334 0
= 15,400
Al 35,934
2 s5=34l 51,334 51,334 0
OUJILE=3Y J=2el KAl
25,667,000 #2002 51,334
= 15,400
Al 35,934




M 23
M J|IRHIUES 2c
ol HE o1 22 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SHNERYES 2 =+ 17,600 17,600
201 er23 | 17,600 17,600
01 At2teltl 6,800 6,800
OdNERgs 2388 AN HH
1,700,000 *43] 6,800
02 S3=gHl 10,800 10,800 0
OstBNERYS €88 R2ER=s
2,700,0002 *42] 10,800
Jl=Hsiis =& 10,700 10,700
201 el 6,000 6,000
01 At22t2lt] 6,000 6,000
OMEta =SMEY HISES X
600,000& 105 6,000
202 0o4dl 4,700 4,700
01 =LHNHI 4,700 4,700
OstZ2d gR=a o 4,700
=cl0lE Mel X 13,200 11,200 2,000
201 et 3| 13,200 11,200 2,000
01 At2t2l] 10,200 8,200 2,000
O=dIOIE HMel XXt SRz
1,020,000& 10 10,200
2 s5=4g4l 3,000 3,000 0
O=dI0OIE XMl NJXE 77l
300,000 %10 3,000
=l0IE MelX&AY 1,598,680 1,423,080 175,600
= 799,340
Al 799,340
401 AIEHIZ SR OHYI 1,598,680 1,423,080 175,600
= 799,340
Al 799,340
01 Al&HI 1,595,483 1,417,957 177,526
OsdI0IE Melitd 1,695,483
= 799,340
Al 796,143
03 AIZ2THYI 3,197 5,123 A1,926
O=t0IE XMelAr 3,197
SR BIEHA HZAS 3,993,560 4,963,000 969,440
= 2,042,980
= 585,174
Al 1,365,406
301 LEetE N = 3,366,560 3,940,000 Ab573,440
= 1,683,280
= 504,984
Al 1,178,296




SN &2
M J|IRHIUES 2c
ol HE o1 22 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
14 JIEt2 8= 3,366,560 3,940,000 A\573,440
OSBRI HHEILA H2AFD (ZIIHIRY) 3,316,560
= 1,658,280
s 497,484
Al 1,160,796
ORARI HHEILA M2 A (LPGSH2 Xt
AR Y) 50,000
= 25,000
== 7,500
Al 17,500
402 QIF X201 & 627,000 1,023,000 A396,000
= 359,700
== 80,190
Al 187,110
02 BIINEASEZ(0IETHR) 627,000 1,023,000 39,000
OSHAST HEIIA HLAIL(=2ZSA
OPFR 2t 165,000
= 82,500
s 24,750
Al 57,750
OSHAST IEIIA HZAIL (A&
ulkSambs()) 462,000
= 277,200
== 55,440
Al 129,360
HILSAHs=8L 24 12,000 5,000 7,000
201 er23| 12,000 5,000 7,000
02 S5=2g4l 12,000 5,000 7,000
OooIeg its =3Y |22 3= (H8)
Z Al 6,000,000 +27H 2= 12,000
OIS 700 KA (2124) 5,960,000 6,200,000 240,000
= 3,400,000
= 768,000
Al 1,792,000
402 QIF X201 & 5,960,000 6,200,000 240,000
= 3,400,000
< 768,000
Al 1,792,000
02 QI X2 AL EE(OIHTHE) 5,960,000 6,200,000 240,000
OHIINSXE <200 X2
13,000, 0002 +120CH 1,560,000
= 600,000
[ 288,000
Al 672,000




2A:

X XH -
o=

el EERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O&IISEXt 701 X
22,000, 0002 *200CH 4,400,000
= 2,800,000
[ 480,000
Al 1,120,000
HII0IEX 2SAHS 48,000 54,000 26,000
= 24,000
Al 24,000
402 I2FX=01 & 48,000 54,000 26,000
= 24,000
Al 24,000
02 RIENZASEZ(0IETHR) 48,000 54,000 26,000
O&II0IEXF 700 XI&
1,600,000 *30CH 48,000
= 24,000
Al 24,000
0120 SSXte LPG M A 21,000 70,000 249,000
= 10,500
< 3,180
Al 7,350
301 LELE NS 21,000 70,000 49,000
= 10,500
=S 3,180
Al 7,350
14 0Bt 2as 21,000 70,000 49,000
O0gloIS=txte LPGRE MEHAI AL 21,000
= 10,500
= 3,180
Al 7,350
IHEE MNsAELe ESAME 31,000 9,000 22,000
= 18,600
= 3,720
Al 8,680
402 2IZtA=01A 31,000 9,000 22,000
= 18,600
= 3,720
Al 8,680
02 QI A2 AL E R (0IETHR) 31,000 9,000 22,000
ONEEN=AELY BSAMY
& 8+=100,0002 * 190CH+ A1 4 = 8600, 0002
*20CH 31,000
= 18,600
= 3,720
Al 8,680




M 23
Hu: J|sEsige 22
el 3 Ul 2l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SHFMTAIE EXXE 212,400 313,440 /101,040
= 63,720
Al 148,680
402 212+ X+=01 & 212,400 223,440 A11,040
= 63,720
Al 148,680
02 QI XHE AL E R (01X THE) 212,400 223,440 211,040
OsF Mz DdEH S A3
12,000,000 *109H 2~ 120,000
== 36,000
Al 84,000
OSLFHEAIE 2HIE A
92,400,000 * 100 2 92,400
= 271,720
Al 64,680
NSt 2gHe HSAAE 2= 20,000 20,000
201 etz 3| 20,000 20,000
02 S3=gHl 20,000 20,000
OXSAt 2dHe HHEANAYE |FAE+ 20,000
OIMIEHA Tis2el 2,500 2,500 0
201 Ler23 | 2,500 2,500
01 At2t2ltl 2,500 2,500
OOIMEZX g 2= M 2,500
OIMEHA SHUHE HTZAl XIEAL 83,000 88,000 0
= 44,000
Al 44,000
101 @12A4H| 88,000 82,000 6,000
[ 44,000
Al 44,000
04 JIZtN2Z2XNSE+ 88,000 82,000 6,000
ODIMIEXl =HEE HZZAIAI
2124H120,500, 0003 x4 S+ EH= FH16,000,
000& 88,000
[ 44,000
Al 44,000
SDIXSAH SHIZet 2FAY 300,000 0 300,000
= 90,000
Al 210,000
401 AIEHIX SO 300,000 0 300,000
= 90,000
Al 210,000
01 A28l 300,000 0 300,000
OZIINSIt STIZ A=A
60,000, 000+5CH 300,000

_6_




2A:

X XH -
o=

29: (Erel: a2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 90,000
Al 210,000
23012 dWEX ds7A2 6.280 0 6.280
= 3,140
< 942
Al 2,198
402 QI2F X201 & 6,280 0 6,280
= 3,140
== 942
Al 2,198
02 QI EASEX(0IETHR) 6.280 0 6,280
OE3JI12t ZUEI 4572 6,280
= 3,140
=S 942
Al 2,198
Olold AHEH XA 20,015 0 20,015
< 6,005
Al 14,010
401 AIEHIZL S0 20,015 0 20,015
= 6,005
Al 14,010
01 Al&H| 20,015 0 20,015
OO0l AHEH XA 20,015
= 6,005
Al 14,010
JIIEEREAE SFNZ AIE AE A 30,000 0 30,000
402 2I2FXH=201H 30,000 30,000
01 QI X2 AL 2 (KR TH) 30,000 30,000
OIN=2aHEAE AFHMZAIE XA 30,000
HEHS AL 2,003,000 1,557,000 446,000
= 8,000
Il 740,000
= 642,300
Al 612,700
HENH W ES XA 16,000 20,000 24,000
= 8,000
= 4,800
Al 3,200
101 @124H| 4,000 19,000 A15,000
= 2,000
[ 1,200
Al 800
M ORNZZ2NSE S 4,000 19,000 15,000




M 23
M J|IRHIUES 2c
el MEHSRAIY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OdEA et = X 21248| 4,000
= 2,000
== 1,200
Al 800
201 er23| 12,000 1,000 11,000
= 6,000
== 3,600
Al 2,400
01 At22t2lt] 12,000 1,000 11,000
OdEA Netd= SR A =& 12,000
= 6,000
=S 3,600
Al 2,400
B2t XHR N (M EHALY) 850,000 909,000 /59,000
< 637,500
Al 212,500
101 @124H| 15,000 8,000 7,000
= 11,250
Al 3,750
MU IIRIMZENSES 15,000 8,000 7,000
OdEagi 88 & 2l 212t| 15,000
= 11,250
Al 3,750
201 et 3| 10,000 8,000 2,000
< 7,500
Al 2,500
01 AtR2t2lt] 10,000 8,000 2,000
OdE 22X 23| 10,000
= 7,500
Al 2,500
307 el2tol & 15,000 4,000 11,000
= 11,250
Al 3,750
02 QIZtEHAEE X 15,000 4,000 11,000
Odt2d 243298 X3 15,000
== 11,250
Al 3,750
401 Al HIZL S 0HYI 800,000 800,000 0
= 600,000
Al 200,000
01 Al&HI 800,000 800,000 0
OEd BT dej2ra BE &Y 800,000
= 600,000




2N e

3 jlﬂ;—tﬂi}EH% 2tel
CHOl: ME=RIAY (crel @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 200,000
405 AtatE = 10,000 8,000 2,000
== 7,500
Al 2,500
01 AL =S F=H 10,000 8,000 2,000
QU2 28 =22 7¢ 10,000
S 7,500
Al 2,500
CAMEE SAAY 1,057,000 600,000 457,000
) 740,000
Al 317,000
401 Al HIZ S OHHI 1,057,000 600,000 457,000
Il 740,000
Al 317,000
01 AlZ8| 1,067,000 600,000 457,000
OEd SuS~ZXE TAIMEH= SHA
& 1,067,000
Jl 740,000
Al 317,000
HENSIE S AL 50,000 0 50,000
207 ARl 50,000 0 50,000
01 = 50,000 0 50,000
O=&d dHold S2AE AR ZLIHE
=9 50,000
Aeleh dMEp it 2= HI0H =4 30,000 0 30,000
207 AR 30,000 0 30,000
01 H7ESHI 30,000 0 30,000
OXlclet MEj2ALHE OIAHZH 22 30,000
iS4 2 33,130 33,130 0
a2 33,130 33,130 0
201 er23| 24,700 24,700 0
01 At2teltl 24,700 24,700 0
OstZ2g ST dai ==&
700,000 65 4,200
OHlz= & HIIEAIE ZAI SE 2
500,000 * 140H 2 7,000
OO0IRI0| BETY HAF SH222
500,000 *107H 2 5,000
OtisgAa = Il=
180,000& %10 1,800
OOIAZAIEE PAS SBAle=&
3,350,000& *22] 6,700
202 04| 3,800 3,800
01 =LHO LI 3,800 3,800




- & - SI(E) - NIRAY - BAS A HIDE2
OosgdiE ¢ 1] 3,800
206 =4I 4,130 4,130
01 M=4l 4,130 4,130
OthEA & 2ANE 2EMSY 7
= 100,000& 12+ A 100
0%z ExT ) 2 4,030
- EEE 150,000 524 750
i PSI= 40,0002 +75 280
REIHE 50,0003 *102f A 500
QA 500,000& *57H 2,500
301 2 E = 500 500
14 J|Et2 a3 500 500
OBZRYHS| AD TN
100,000& 54 500
SSeEd 2g 2l 147,480 91,460 56,020
SSeEa 2l 147,480 91,460 56,020
202 04t 3,800 3,800 0
01 2L AL 3,800 3,800 0
@):PIE=)N; & O] 3,800
206 =4I 58,680 57,660 1,020
01 M=8l 58,680 57,660 1,020
OosssEd =
15,0002 60 A+ 122 10,800
Ossstad = 78
10,0003 * 1144 2+ 123 13,680
Os8 & 4 HAZE (A, HIF
g) 7¢ 70,0003 %1140 A +43] 31,920
OssetEd S(SEXZ0l, HI+=Z
o s)+ 20,0002 11400 2 2,280
401 AIEHIY 85,000 30,000 55,000
01 Al&H| 85,000 30,000 55,000
o888 & ANEE
1,000,0002 #1500 2 15,000
OXielat Zel Al SHEA SIS AP
FEEO 0 70,000
JIZEdst Hsad 726,920 124,200 602,720
= 200,000
Il 171,460
= 34,000
Al 321,460
EtAZOIER 170,000 87,780 82,220
Il 85,000
[ 34,000
Al 51,000




SN &2
M J|IRHIUES 2c
ool JISHE (SAH (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 170,000 87,780 82,220
Jl 85,000
== 34,000
Al 51,000
14 JIEt2 = 170,000 87,780 82,220
OBAHIER QIHEIZ K= 170,000
Jl 85,000
=S 34,000
Al 51,000
HILHEE 2404 NS A 24,000 24,000 0
Jl 12,000
Al 12,000
201 er23 | 12,000 15,000 A3,000
Jl 6,000
Al 6.000
01 At2teltl 9,000 11,000 /2,000
O2&0tA, OiUXl &E A48 S2=8 M
= 6,000
Jl 3,000
Al 3,000
OEAZY AFMEE 2SR ¢ HiH MA 3,000
7l 1,500
Al 1,500
03 A= I 3,000 4,000 1,000
OMEHA WA AL A 3,000
) 1,500
Al 1,500
301 EetE2 NS 12,000 9,000 3,000
Jl 6.000
Al 6,000
14 JIEt2 8= 12,000 9,000 3,000
O24atA At ALHE ESH| XS 12,000
Jl 6,000
Al 6,000
st BAEIETR 8,920 920 8,000
) 4,460
Al 4,460
301 EtE2 NS 8,920 920 8,000
Il 4,460
Al 4,460
14 0Bt 2as 8,920 920 8,000
OXrSxt BHAEQIERN QIHEIE XI= 8,920
7l 4,460




QA BAD
M J|IRHIUES 2c
oels JI=He HSe A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 4,460
BASE d=ad 24,000 11,500 12,500
201 et 3| 9,000 4,500 4,500
01 At22t2l] 9,000 4,500 4,500
Oaxsg dd 82 =23 M
1,250,000 43| 5,000
OErAZY 83 DSy
500,000 x22| x4 4,000
301 EtE2 NS 15,000 7,000 8,000
14 0Bt 243 15,000 7,000 8,000
OBAZY MEHZ ZSU)
00,0002 x10& « 10 10,000
OBaxSe Ad=23 M AMEE
500,000 104 & 5,000
JI=HS FHAAS NS KA 400,000 0 400,000
= 200,000
Al 200,000
401 AIZHIX S0HH 400,000 0 400,000
= 200,000
Al 200,000
01 A28l 400,000 0 400,000
OHSAE F R TEAME
5,000,000 =80H 400,000
= 200,000
Al 200,000
Al BASE JI=HE 100,000 0 100,000
Jl 70,000
Al 30,000
207 ARl 100,000 0 100,000
Jl 70,000
Al 30,000
01 S| 100,000 0 100,000
OEAZE JIZ2AHE =8 E9 100,000
Il 70,000
Al 30,000
Hols2¢el 17,820 17,700 120
YRHIIZ Xel 10,500 10,500 0
201 er23 | 10,500 10,500
01 At2teltl 10,500 10,500
OZA(HAH, HR, 45 S) XMl
= 10,000
OHJI=SH BHH Iyl
5002 «1000H =102 500
helot=xelAlE 89 3,520 3,700 A180

_12_




SN &2
M JIFHSIE 2l
Cel: HIlS2el EEED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
201 LB-2AH| 3,520 3,700 A180
AtR2te| | 3,520 3,700 A180
OJelgteXelAlE =22 At
10,0002 »40AH 400
OJelotexelAlE EA HHZE EE
600& *5,200A 3,120
EER2tel 3,800 3,500 300
201 LBr2H| 2,000 1,700 300
NEEI 2,000 1,700 300
OIEELIBAL BAE Iy
5002 * 10001+ 10 500
OYFH Z& A== 50,0002 *303! 1,500
206 =4l 1,800 1,800
01 M=z 8l 1,800 1,800
O%F LEL 2 300,000& +6MI E 1,800
Clean & =4 4,708,519 4,543,738 164,781
= 287,500
= 159,393
Al 4,261,626
HAMF 2L 2,132,471 1,846,253 286,218
= 73,000
T 23,330
Al 2,036, 141
PSEnL PSR Yol 1,980,013 1,698,645 281,368
201 Ler23H| 838,908 632,240 206,668
01 At 22|l 152,780 140,740 12,040
Oget=2H| 5,000
oMy IISE &1 fo1&8|
120,000& «12& 1,440
OMYIIEEED| SXetE &X
250,000 *309H 2 7,500
Oogstle o122 1,500,000 22| 3,000
OFUXAI IS 2EELAAS =E
70,0003 x6H *23| 840
OHg&s 28| 203 *150, 00004 3,000
O=cltizs 822 NH
200&+20,000% 4,000
ONEESEE ESYE Q2N EE22(ZAH)
700& 1,000 700
OMNMEEZE =L QYN CHHE HIE
50,0003 *607H 2~ 3,000
OHo%E fE el 8,000
OUEHII2 2HtY HiEN & A2
275,000& = 1200 & 3,300
Ote U =22 500,0002 1290 & 6,000

_13_




2A: 2E0
3 Clean & =4
Chel: HAgF 2 EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Omel= ol OHgE 2(28A, 2aae
) 900,000& »4Y 84,600
Ogtdzeld S AHLZ A
40,0003 *100F *23| 8,000
OsZBA WS ARAAA DY
400,000 x2H 23| 1,600
OsZRA WE ALY
200,000 3 x23] 1,200
OB HB LSS
100,000& *6F *23| 1,200
O &gt 0tA=a P2
4003 *130H 200 10,400
02 E324H| 684,128 491,500 192,628
Ox& 7J4l 9,500,000 *42CH 399,000
O ==&l 150,000
OXeEe = 1,500, 000& *42CH 63,000
OEHI o Xl 2,000,000& *13CH 26,000
OAIZ &l {XIBI(CCTV) 300,000& *62CH 18,600
OS] &= 0V &8JIe3
7,000 3 *62CH* 1201 = 5,208
O=™EI| &= TV d828 23
30,000 x62CH* 1200 & 22,320
03 &At2GH| 2,000 0 2,000
Ostg2eld M=-AF XA 2,000
202 Ot 31,000 30,800 200
01 =WO4bI 31,000 30,800 200
OHAST A2EZ Ol 23,100
OFLMH MR ASoH| (P 2eld)
100,000 79X 7,900
206 M=4| 243,945 203,775 40,170
01 =Yl 243,945 203,775 40,170
OBH0ISHA BAET 7Y
5,000,000& *43| 20,000
OoMgdl RASE +Y
852 2,000, 00004 170,000
OHUNFI MeD| 8§ K=
85& *1001*2,500 2,125
Ok 24X =2 XD =5 7L
85&*4,0002 «3204 10,880
OLBHARIY 425 7Y
10,000, 0003 24! 20,000
OMYI I SHNSE tHis22s 2
297,000& *2004 5,940
OSHNSE s AXE =HE
300, 000& *500H4 15,000
303 L&z 61,977 1,000 60,977
01 Za32 1,500 1,000 500

_14_




A 3
M Clean & =4
=Hel Fadyae (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORY stgdac|d 2a=
100,000& %15 1,500
02 d1ltat0is 60,477 0 60,477
Ostgdacld ditdi=
2,551, 7402 x 79 *3(fk 60,477
308 AHXIHMSO0IA 389,183 376,320 12,863
07 X2 EE2 389,183 376,320 12,863
OHJIEx=2fes
158 %24,500,000kg*1.059 389,183
401 Al HIZ 2018 290,000 140,000 150,000
01 Al&H| 290,000 140,000 150,000
OXgDISESI S&58 (CTV £X
5,000, 0002 *30CH 150,000
Ostdzeld gde(FAH4) Sl
70,000,000& *14] 70,000
OF2 &0 At 70,000
Ao 10,000
-23 ¢ CCIV £X 10,000
=1l 10,000
-Meo 29 I &X TV £X 10,000
orgdH 50,000
-2& 3XZ0l CCTV £X SAt 50,000
405 AtatE = 125,000 314,510 189,510
01 IR ESFSHI 125,000 314,510 189,510
OsAlSs=HXE UM 2
125,000,000 *1CH 125,000
Mol SEM MLAXNS +=HHIS K 6,000 6,000 0
201 el 6,000 6,000
01 At22t2lt] 6,000 6,000
OMED| E2H HAT HRIHIZ N X
425 28 1,500,000& «4JH 0= 6,000
ot M| =AY 104,286 104,286 0
= 73,000
Al 31,286
101 21AH| 101,330 101,330 0
= 70,931
Al 30,399
M ORNZZ2NSE S 101,330 101,330 0
OotE M| oAt 12| 101,330
= 70,931
Al 30,399
201 er2 3| 956 956 0
= 669
Al 287




A 3
M Clean & =4
=Hel Fadyae (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 956 956 0
OFAizd 287YHIR, B, 7222 ) 956
= 669
Al 287
202 04| 2,000 2,000 0
= 1,400
Al 600
01 =LHOHI 2,000 2,000 0
Ootd Mg E3tAre 01| 2,000
= 1,400
Al 600
&2 ot2Aed| HatArY X3 35,892 35,892 0
= 17,946
Al 17,946
308 AXIMSO0IA 35,892 36,892 0
= 17,946
Al 17,946
07 HXHH 2R 52 35,892 36,892 0
O8&Z at=22&e0| At 35,892
== 17,946
Al 17,946
HaEs =82 adEs N 1,280 1,430 A150
= 384
Al 8%
201 Ler23| 1,280 1,430 A150
= 384
Al 89%6
01 AtR2t2|HI 1,280 1,430 A180
oNgE=s =8 AMES A2 1,280
= 384
Al 896
UNDNR=P5 I PAStN 5,000 0 5,000
< 5,000
401 AlZHIZ 01| 5,000 0 5,000
=S 5,000
01 Al&H| 5,000 0 5,000
OXgPIsg Sl S8 (CTVEXR 5,000
= 5,000
HlZ2 2 1,497,383 1,225,937 271,446
= 195,000
=S 136,063
Al 1,166,320
HaEsaels=H/ S 82,538 34,750 47,788




M 23
M Clean & =4
Celr HIIE 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
206 M=l 82,538 34,750 47,788
01 MHZH| 82,538 34,750 47,788
OoNgEss =H 1=
6,3002 *1,0000HK 6,300
OHAER WEAE MY IISE
2802 *30,0000HK 8,400
OS0/% WAt 3HE
500& %10,0000HK 5,000
OHAHAEX =HE 50,0002 * 154 750
OHEZS =AHE(HH=R2)
24,0002 +250H 600
OHgZs 2Lt 98,0002 x24H 2,352
oNgs=zels=neg 203,800 20K 4,076
OOt0| A LBtAtY SHMSE Fe
2802 +2,000% 560
OsALIYR 228 7
400,000 40K 2= 16,000
OWEBE 471 S0 2
15,000 7000H 10,500
Otz He 2 350,000 807K A 28,000
SEHHIE =HEa= A& 180,000 180,000 0
= 36,000
= 18,000
Al 126,000
301 EtE N = 180,000 180,000 0
= 36,000
[ 18,000
Al 126,000
14 JIEt2 8= 180,000 180,000 0
OsZHHIE =H=24=
100&*1,800,000kg 180,000
= 36,000
[ 18,000
Al 126,000
SSdoty =& NAMY XN 30,000 36,000 26,000
= 9,000
Al 21,000
401 AIEHIX SO 30,000 36,000 26,000
= 9,000
Al 21,000
01 A28l 30,000 36,000 26,000
Ossdoty &5 N
5,000,000 6K 2= 30,000
= 9,000
Al 21,000




2A:

X XH -
o=

Celr HIIE 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HeE sUlbtE EXIAY 430,000 100,000 330,000

401 Al HIZL 201 430,000 100,000 330,000
01 Al&HI 430,000 100,000 330,000
OoNgE sUIltd XA
15,000, 0002 * 1691 £ 240,000
OMES SUIDIE CCTV & XA (XHH)
5,000,000 *30IH £ 150,000
O &0 At 40,000
A 40,000
-CA0lE WEE SUIlte 20,000
-850 MgE sullte 20,000
SEE A2 =HEAH NAE 10,875 15,347 N4, 472
[ 3,263
Al 7,612
301 LELEN S 10,875 15,347 N4, 472
= 3,263
Al 7,612
14 IIEt2 83 10,875 15,347 N4 A72
OHs%EIIF =HIBl A& 10,875
= 3,263
Al 7,612
MeES el wasEs 7 32,000 12,000 20,000
== 23,600
Al 8,400
206 M=l 32,000 12,000 20,000
< 23,600
Al 8,400
01 MHZHI 32,000 12,000 20,000
OMEEE 2ol ns=sg 7Y (8sE
oF QIHIEIE) 20,000
= 20,000
ongEs 2= wa=s ¢ 12,000
= 3,600
Al 8,400
MetE =0t HolE xel K& 64,000 60,000 4,000
= 19,200
Al 44,800
201 ger=3| 64,000 59,000 5,000
== 19,200
Al 44,800
01 At22t2l] 64,000 59,000 5,000
OEsHIN =H & HEXel X
400,000& x160= 64,000
& 19,200




A 3
M Clean & =4
=?el mols 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 44,800
MEHDI|IE HE tHEAE X K& 240,000 210,000 30,000
== 72,000
Al 168,000
401 Al HIZL S 0HYI 240,000 210,000 30,000
< 72,000
Al 168,000
01 Al&H| 240,000 210,000 30,000
Od&HDI=Z A8 HHEAZ £X 240,000
= 72,000
Al 168,000
18183 = Hel ZEAY 11,200 50,000 /38,800
201 fer= 3| 6,000 49,000 A\43,000
01 AtR2tc|HI 6,000 49,000 /43,000
Otielsd 3+ 82= A
1,000& +5,000% 5,000
otzlgd 3+ = & &8 M
100,000 %100 A 1,000
206 M=l 1,000 1,000
01 MZH| 1,000 1,000
Ottzls8d8 MEssE N&
100,000 * 100K 2 1,000
301 22N = 4,200 4,200
14 JEt2a s 4,200 4,200
Ottzl&3 3+ dEE XNa
3,500& *1,200H 4,200
MRS +HHES(SSHEAILE NS 300,000 200,000 100,000
= 150,000
Al 150,000
401 A& HIX R0 300,000 200,000 100,000
= 150,000
Al 150,000
01 A28l 300,000 200,000 100,000
OSSHEAIE &zt ALY 300,000
= 150,000
Al 150,000
Al HE=SHA 2= 116,770 116,770
101 @124H| 87,770 87,770
M ORIMZZ2NSE S 87,770 87,770
OX =2t X120l 87,770
JlEag 9,620 *BA| 2+ x5 +525=%3H 60,029
CFERsY 9,620 x8A| 2H+52F=+3H 12,006
- AAXtE 9,620 «BAI 2H* 120 2 <3 2,7mM
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SN SR
83: Clean & =4
&2lr HolZE 2 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
42 72,034, 56021 1.5% 8.284
S4H| 6000214521 452732 4,680
201 B2y 29,000 29,000
o1 ARzl 25,400 25,400
OMEBIE HTAIL(BHL) 20H2
500, 00024224 2 x34 2 18,000
OMEEZEH HBAL (L) 2BS 28
£z 39 1,000
OXAEXIV0| 2Y 2B X2 (HYX)
A3, HYSZE S) 1,000
OMZEZE HIAL AHY 36 23
30, 000237} A 124 2 1,080
OMZEZE HBAIL 22H)
120, 0002132} 2+ 124 2 4,320
02 B2 3,600 0 3,600
OMEBSZE HBAL(BNHL) 2
100, 0002124 E53H 2 3,600
SA2E HII2 22 5,100 5,050 50
sA22 22 5,100 5,050 50
201 2Bt 5,100 5,050 50
o1 A2l 5,100 5,050 50
SENENCRIE RN
20024+15,0000H+ 13! 3,000
OLPOIA (B S4E S HIS8)
35, 000214605 2,100
HOI2 H2NE =Y 2l 1,073,565 1,466,498 239,933
= 19,500
Al 1,054,065
BATHEE DI HENE 29 571,874 537,136 3,738
101 21218 503, 174 475,7% 27,438
M IRAH2ENSE 503, 174 475,73 27,438
OmEEEE oz 470,931
. B 76,9602+ 162 +2482 305,378
y{=H 14, 4302 =4A1 2+ 163 242 22,165
. REFYLT 76,9602+ 1625652 80,039
QR 76,9602 162 122 14,777
SRR 422,359,002 +11. 5% 48,572
ONE2gEE oY 3,243
g-H 84,3002 +124 2482 20,907
¥q=1 15,8062 x4 A| 2+ 122421 1,518
- REFYLY 84,3002 1245652 5,480
PR 84,3002 %12 122 1,012
sHEEE 28,917,000+11.5% 3,3%6
201 Ler2 | 49,800 40,800 9,000




2A:
PSER
o e

el

2
Clean && =4
HOIZ2 HelAlE 29 2t

SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
01 AtR2telt] 7,800 7,800 0
Oge=2| 3,000
OHEAd &I|tMzte| 2
200,000& =123 2,400
O&HEAIE Re1Z| 100,000& x 12& 1,200
OAIOIEB S0 Ol RBA=T|
600,000& 23] 1,200
02 33=24H| 42,000 33,000 9,000
OHEAd &.ot=E= 12,000
OAEEH| 2XIdl 30,000
206 M= 18,900 20,600 A1,700
01 =l 18,900 20,600 1,700
ONEBE 258 2AH 7Y
4,000& +3,000kg 12,000
O=el=H0o 7 15,0002 *300& 4,500
OHER(BF &) AZHEXH
1,200,000 *23| 2,400
& 22 452,691 788,112 A335,421
101 21244l 139,280 130,678 8,602
M IIRHNZ2EXsSEs 139,280 130,678 8,602
OUAINEE FoI2AI2 eI 62,260
=y 76,9603 2% x248 38,173
CERY 14,4303 #4 A 242 x50 6,003
= By 76,9603 x2H 652 10,005
RPNy 76,9603 x2F « 12 1,848
JUBE = 54,181,000& *11.5% 6,231
OUAHNEE HEHDIZ2 IR 55,567
-8y 76,9603 2 243! 38,173
- Rasgsd 76,9603 x2H +65 10,005
R PNE= 76,9603 x2H « 12 1,848
JUEEZ 48,178,000 *11.5% 5,541
OUANEE &9 2 M= e 21,453
-8y 76,960 *2H 100! 15,392
FERgsY 76,9603 x2H x252 3,848
JUBE = 19,240,000& *11.5% 2,213
201 L2 AH| 169,404 162,434 6,970
01 AtR2telt] 73,644 92,346 A18,702
OFEs =ZZAHI 341,800& =123 4,102
OXIZE== =EHAtd| 6,000,000 *x23| 12,000
OSAHE BRI =Z Z AlH|
3,125,500 & 43| 12,502
OANEEE HEE 2Kl
600,000 *23| 1,200
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2A:

2F

M Clean & =4
ol HDIZ MRIAE 22 B2 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAIZBER UEd ZAHI(+E &)
7,500,000& *4 ) A*13] 30,000
Olg&=g syl 10,000
O&Jerdze| a2
200,000 * 1204 & 2,400
Ouatield Ll 120,000 123 1,440
2 5234l 95,760 70,088 25,672
Ollgd &= 2,500,000& 12942 30,000
Ollgld &= otk HAXC AISE
1,4902%2,000=* 1200 2 35,760
Ofg &2l AIEEHIsA 30,000
206 M=l 34,007 356,000 A993
01 MZH| 34,007 36,000 A993
Ollgd ggs= Fd
40,0002 #2705 10,800
Oy 2A2I=7(37 S) 228X 7
800,000 42| 3,200
Oollgld dgz =M 7
13,0002 %1,539m 20,007
401 AlZHIZL SO 110,000 460,000 A.350,000
01 Al&HI 109,460 457,723 A\348,263
FHOIE XNEAME 60,000,000& %99. 1% 59,460
OUAHINEE SEM S2AI
10,000, 000& x5! 50,000
03 Al 20HHI 540 2,277 A1,737
Ogd =0t XF A
60,000,000 0. %% 540
HOISHM2IAIE SS(A2AE) 10,000 115,250 105,250
301 EtE NS 10,000 10,000 0
11 dALEBIXIZE S 10,000 10,000 0
OBIAIZ A2TAIE HEIX] HAsH(el2tel)
50,0003 x50 *43] 10,000
EE2Z SEME NEAL 39,000 26,000 13,000
= 19,500
Al 19,500
101 e124d| 39,000 26,000 13,000
= 19,500
Al 19,500
M ORIMZZ2NSE S 39,000 26,000 13,000
OoNEss SEME XA 39,000
= 19,500
Al 19,500
HENHES 334,540 537,262 N202,722
= 43,270
= 11,790

N




SN &2
M dHAZES
el Ordd= et (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 279,480
Ordds &gt 334,540 537,262 N202,722
= 43,270
= 11,790
Al 279,480
OFHS= IOl 2 AL 42,540 72,762 A30,222
= 21,270
< 7,090
Al 14,180
402 QIF X201 & 42,540 72,762 N30,222
= 21,270
== 7,090
Al 14,180
02 SIINEANSEX(0IETHR) 42,540 72,762 A30,222
OOt =S TIoH OllZAL 42,540
= 21,270
=S 7,090
Al 14,180
Ors= 106,000 64,000 42,000
201 =3 6,000 6,000 0
01 At22telt] 6,000 6,000 0
O&=D] EIXIM 7 10,0002 = 100H 1,000
OOMES PXBE 2F 79
500,000 104 5,000
301 LEN= 100,000 40,000 60,000
14 0Bt 2a3 100,000 40,000 60,000
OSHOMES TELAZ(U2HTS
TIoHEEKIE) 1,6960t21%50,000& 84,800
O0tdsE U &3l
152,000& * 10024 16,200
OriS =TI 2 &AL 47,000 31,500 15,500
= 4,700
Al 42,300
301 EetE2 N = 47,000 31,500 16,500
=S 4,700
Al 42,300
14 0Bt 2as 47,000 31,500 16,500
Oftds=E == Lioi24=2 47,000
& 4,700
Al 42,300
25 IS SEE23 =4 44,000 44,000 0
= 22,000
Al 22,000
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SN &2
M dHAZES
el Ordd= et (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 10,000 10,000 0
= 5,000
Al 5,000
MU IIRIMZZENSES 10,000 10,000 0
Osg=2=+H 10,000
= 5,000
Al 5,000
201 et 3| 10,000 10,000 0
= 5,000
Al 5,000
01 At2t2lt] 10,000 10,000 0
OAMg=d 858 7Y 10,000
= 5,000
Al 5,000
401 A& HIX R0 24,000 24,000 0
= 12,000
Al 12,000
01 A28l 24,000 24,000 0
23?014 = UloeAld &X 24,000
= 12,000
Al 12,000
OtZeItHAIE Y SUEHXI ALMIX 2l 95,000 25,000 70,000
201 Eer23 | 5,000 5,000 0
01 At2t2lt] 5,000 5,000 0
OAMdIxel 858 +¢ 5,000
301 EtE N = 90,000 20,000 70,000
14 DBt 2 a3 90,000 20,000 70,000
OAMI0l5HI 50,0002 %9000t 2| 45,000
OEHAIZHI 50,000& *9000+2| 45,000
Klot=2te| 95,300 93,500 1,800
XS Kot 2FAL(Ex2=Y) &1 95,300 81,500 13,800
XS Xlots 2SAE(EX2EL)EX 95,300 81,500 13,800
201 er2 3| 16,200 6,000 10,200
02 S3=4gl 16,200 6,000 10,200
OXiots 2SN (BEXRAEY) K2 16,200
401 AlZHIZ SO 79,100 75,500 3,600
01 AlZ28| 79,100 75,500 3,600
OXigt ASAE(E2FL)LX| 25H
Hl & oH{E £ & &X 79,100
HY2IZH(&Z ) 4,952,413 5,568,920 616,507
ol HH|(&3 ) 4,927,273 5,544,260 616,987
olEHH| (&3 4,927,273 5,544,260 616,987
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221t
M2 A (2F )
ol 29|(2Hd 1) STRFSEED
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
101 12| 4,876,774 5,493,043 £616,269
08 BRE(IH )22 2L 4,876,774 5,493,043 £616,269
O=tZ el |l (789, 16E 0124 4,874,774
DIt 2,551, 7402 782 122 2,388,429
H24g 2,551, TAVR 782 +50%+23| 199,036
H24Y0H02 10,0002 <78 » 12 102,960
JIESS ()
40,0008 +70% * 128 33,600
=4S (OIEH 20,0002 0% * 1228 21,600
- JIESY(2RIH) 60,0002 *40% * 128 28,800
- JFEESEH(3RHA) 100,00024 %21 128 25,200
- ER4g) 125,002 +79% » 1284 118,500
- A 100,0002 <79 » 1284 %,800
- HoUgAl| 170,00081 78 » 122 159,120
YRS 2,551, 7TA0R1+25| 782 x60% 238,843
NFLI IR,
15,49091 %1, 5+78Z*13A| 2+ 122 282,888
oRt2esy
15,499@1%0. 5+2A| 205302 x20 9,300
224G
123,992+ 1 55782 52+ 122 870,424
HIRIEIITY
123,99221+78% % 102 9,714
SaE4g 100,00024 12 * 128 1,200
SRS 70,0008 x4 24+ 128 3,360
ElRZ Z2EN 100,000, 00084 x22 200,000
Ozhaeld X2Hl XY (Z0IE 24
50,0002 x40 2,000
304 I2RL3S 50,499 51,217 AT18
M BRI (DI|H)ZZN BERRYS S 50,499 51,217 AT18
OMTHE S 5,680,396, 0002 0. 88%% 50,499
224(2F ) 25,140 24,660 480
Jl=23HI(2H ) 25,140 24,660 480
201 Yer2 | 15,000 15,000 0
01 At22t2H| 15,000 15,000 0
OEEL] 15,000
203 AP EAL| 10,140 9,660 480
M PARYLLETIL| 10,140 9,660 480
ORANSHYDEXY| 10,140
LES(2H) 405,340 205,556 109,784
EEWE I 405,340 205,556 109,784
IIBEES 405,340 205,556 109,784
TR IIBEES 405,340 205,556 109,784
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FA 3
Za: WRES(2ADL)
&2l WRHHXS (CH9: &S1)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
o1JI=dES 405,340 295,556 109,784
OHPISHMelAlE FeXIIS(KYIISE
S THtHS) 1,325,658,390& *10% 132,566
OSAZSHIIESXM2AE FXAIIS (A
S& THU3) 227,739,600 *10% 22,774
OHPISHMeIAIE FeX2INS(HES) 250,000




